Apartment in Marsaxlokk RF/MAX



Reference No: 240081124-121

Marsaxlokk, South



€200,000

Total Rooms: 5

Bathrooms: 1

Floor Area (m²): 97

Bedrooms: 3

Apartment - For Sale - Marsaxlokk

Marsaxlokk -New in the market Ground Floor Apartment - 2 bedroom with a very spacious layout close to all amenities, this Apartment consists of a very spacious open plan kitchen / living / dining room, 2 double bedrooms, (main bedroom with en-suite) , main bathroom and a large front balcony and a back balcony. This apartment is finished state shell form. Freehold Call Agent for more information

Features

Ceramic Floor

Balcony

Rooms

Kitchen/Living/Dining: 9.7 x 4.25 m (41.22 m2)

Double Bedroom : 4.46 x 4.11 m (18.33 m2)

✓ Single Bedroom : 3.56 x 2.75 m (9.79 m2)

Bathroom: 3.64 x 1.9 m (6.92 m2)

Single Bedroom: 3.56 x 2.75 m (9.79 m2)

Gallery







Ritienne Calleja RE/MAX Central - Birkirkara

M: 79881107

E: ritienne@remaxcentral.com.mt

T: 21480165

RE/MAX Central - Birkirkara

Central Real Estate LTD, Triq Dun Karm, Birkirkara, Malta